145°
L
90° WSP Spotting

>

fbe N

o PLALABIE - —REA - BIE
s BRBIENAIEEUINAE

o BNREML - YREBE

NC2033

Hah AL MEIAINEELI45°+90° >>

R

—fERFamERRRER

=

% EREP LA 9 BlE | 142° PR ERES T
ﬁﬁ ! I

= — )i .

% MELF T

Bid
I

| |
90° 142°
- 7N < ‘ > < >
| L
I L
< | |
» 7] ):II >> Dmax.
NC2033: « JJR HIEIY]) O E =
ZHME  EEE - BH e
« JJRAB2@TIEYI O
HE- il =] & M %*D1:005 D2 L2 Dmax. Tmax.
NOMT0802M04C-NC2033 M4x0.7 330 420 093 2.83
NOMTO0802M05C-NC2033 TIAIN K20F M5x0.8 420 525 1.14 8 2.52
NOMT0802MO0BC-NC2033 M6x1.0 500 6.30 1.39 2.24
NOMT11T3MO8C-NC2033 M8x1.25 6.80 840 1.81 411
TIAIN K20F o 13
NOMT11T3M10C-NC2033 M10x1.5 850 10.50 2.28 3.53
NOMT11T3UNC25-NC2033 o1 1/420UNC 508 6.70 1.55 4.70
D2
NOMT11T3UNC31-NC2033 TIAIN K20F 5/16-18 UNC 653 840 1.90 13  4.20
NOMT11T3UNC38-NC2033 3/8-16 UNC ~ 7.94 10.00 2.22 3.72
NOMT1704M12C-NC2033 M12x1.75 10.25 12.60 2.91 6.61
NOMT1704M14C-NC2033 TIAIN K20F M14x2.0 12.00 1470 322 20 587
NOMT1704M16C-NC2033 M16x2.0 1400 16.80 3.51 5.11

AR * DI ESR#ERY -
* KTERBELES0R -

38 Nine9 Cutting Tool & Tool Holders



WSP Spotting

» ]I >> @10 o318’
o [FANEERE B A )R
s BOHAEAE - —RER @16 @5/8"
@20 @3/4”
!
B Part No. ad L JTIREE M 12 4% R F
99616-10 BC10-CT-10 10
89.08:029  NOMTO802  M4~M6 '2\'3;\‘30055 NK-T8
99616-10-3%8  BC3/8"-CT-10 38" ONm
99616-14 SB16-CT-15 16 M8~M10
97.55:0.55 NOMTMT3 — '2\'2;\‘35080 NK-T15
99616-14-5/8  SB5/8"-CT-15 5/8° 1/4~3/8 UNC 5Nm
99616-22 SB20-CT-22-100L 20 96.2410.64
99616-22-3/4  SB3/4™-CT-22 34" 96.24+0.64
NOMT1704  M12~M16 2'230125 NK-T20
99616-22-1 SB1"-CT-22 1 5Nm
146.24+0.64
99616-22-25 SB25-CT-22-150L 25
* HthR<TJJ185B2 1B 32~34 B
» &G Bl >> i M6 7,
- fBREEERBAATERTMN% - M6+5% 15 M6+1mm &l &
FlaIMeIR 44 A A AR B E6.3mm — —
cMREFEHFAWEA  REEIFENFEIT ‘ ‘
»LE B >>
555 Bes AR 58 o0 + S 58 WSP 088 + $E 58
%NS - MIFEE _
oo - e . T o N f.—\—‘
cEoig . MES EE LB L ENIERE

- BFlEMIAR=E

« JJESniE

JJEEmE - EffPOAREAENT

Nine9 Cutting Tool & Tool Holders

145°
+
90°

39

3 56 S% 48 ON

|



